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GENERAL INSTRUCTIONS TO THE EXAMINEES

1. Candidate must first write their Roll No. on the question paper compulsorily.
2. All the questions are compulsory.

3. Write the answer to each question in the given answer book only.

4. For question having more than one part, the answers to those parts are to be
written together in continuity.

5. Write the correct serial number of each question as mentioned in the question

paper.



SECTION. A
(READING)

1. Read the following passage and answer the questions that follow :-

Once Hem and Haw would take their friends by to see their pile of Cheese at Cheese station C,
and point to it with pride, saying," Pretty, nice Cheese, huh?" Sometime they shared it with their
friends and sometime they didn't.

"We deserve this Cheese." Hem said, "We certainly had to work long and hard enough to find it."
He picked up a nice piece and ate it.

Afterward, Hem fell asleep, as he often did. Every night the Little people would waddle home, full of
Cheese, and every morning they would return for more.

This went on for some time.

(i) Who were friends? [2]
(A) Tom and Jerry (B) Ping and Pong
(C) Hem and Haw (D) None of these.
(i) Where was the pile of cheese ? [2]
(A) Chees stand (B) Cheese station.
(C) Railway station (D) Cheese station C
(iii) Who said," We deserve this cheese: ? [V2]
(A) Haw (B) Hem
(C) Cheese (D) Little people
(iv) Who ate the a piece of Cheese? [V2]
(A) He (B) Hem
(C) Haw (D) None of these.
(v) Choose similar word of the following from the Passage. :- [2]
"Qualify."
(A) Shared (B) Pile
(C) Waddle (D) Deserve
(vi) Choose the opposite word of the following from the passage. :- [V2]
n Enemyll
(A) Pretty (B) Certainly

(C) Pile (D) Friend.



(2) Read the following passage and answer the questions that follow.

There was a young student-archer who reached such proficiency in his art that he could shoot an
arrow into a tree and then cleave that arrow into two with the next shot. He began to boast that he
was a greater archer than his Guru.

One day his guru, about seventy years old, asked the youth to accompany him on a trip across the
hills. The journey was uneventful until they came to a deep Chasm.

A single log spanned the chasm. The guru walked down to the centre of the log, unshouldered his
bow and taking an arrow shot it into a tree on the other side.His next shot cleaved the first arrow
into two "Now it's your turn" he said, The youth stepped on the log slowly and carefully. But his
heart was in his mouth. He knew that if he lost his footing he would plunge to his death. His hands
trembled as he strung an arrow into his bow, He could not focus on the target. When he shot the
arrow, it missed the tree altogether. Whimpering, he turned around. "Help me" he shouted to his
guru. "I'll fall" The old man walked up to him, took his hand and led him to safety, neither of them
said a word. On the return journey the boy had realized that to be a master of his art it was not
enough. To know, how to control the bow, he had to learn how to control his mind too.

(i) How old was the guru?

(i) What spanned the chasm [2]
(iii) What was the quality of young archer? [V2]
(iv) When was the young archer afraid? [2]
(v) Who missed the target? ['2]
(vi) Who helped the young archer and how? ['2]
(vii) When did the young archer shout? ['2]
(viii) Write the similar word of the following from the passage: [2]
IlGulfll
(ix) Write the opposite word of the following from the passage: [2]
IIDepartll
SECTION B
(WRITING)
(3) You are Lavisha living in Siddharth Nagar Ajmer. Your friend Khushnika has won a Gold medal
in the State Level Chess Competition. Write a letter to congratulate her on her success. [274]
OR

You are Shlok of class X of Government Senior Secondary School Kalanada, Ajmer. Write a formal
E-mail to the Principal of your school at gssskalanada999@amail.com requesting to arrange extra
classes for English, Mathematics and Science.

(4) Write a story with the help of given outlines in about 80 words. Give the title and moral to it. [2]

Two cats. ............... a piece of bread ................. divide ...l one piece bigger ...............
quarrel ................. a monkey ................. smaller than the other .............. eat .....coccoenn. the cats
request to return what was left .................. refuses .......coceen.... reward of his labour.
OR

A donkey................. carries salt ................. stream .........cccoceees by chance ........... falls down
............. salt washed away ............... half bag remains ............... light............ feels happy ...............
master angry .............. next time ......... carries cotton. ................. stream ................ falls down
........... heavy ...........



(5) Write a paragraph in about 80 words on the event shown in the picture.

OR

Write a paragraph in about 80 words on "DIWALI"
SECTION-C
(GRAMMAR)

(6) Fill in the blanks with appropriate forms of verbs given in the brackets:

(i) She phoned me after she. ................... Udaipur. (reach)
(i) S.N.G. Sir.....ceeeeeeeen. us English every day. (teach)

[(1T) I I to Ajmer with Mr. Ravindra yesterday (go)
(iv)We ...ccovveene. our course already. (revise)

(7) Rewrite the following sentences changing them into Indirect Speech:

(i) Yatharth said to Somanshi," Why do you disturb him?"
(ii) Mother said to me," Don't play in dust?"

(8) Fill in the blanks with a verb in agreement with its subject:
(i) Teacher along with all students ............... going on a picnic. (is/are)
(ii)) The poor ................ honest. (are / is)

(9) Change the following sentences into Passive Voice:
(i) Sanjana gave me a gift on my birthday
(ii) Open the window.
(10) (i) Frame question of the following sentence:
She plays chess in the evening. When ..........cccccciciiieiieeennnn. ?

(i) Add Question Tag to the statement given below
"Arun cannot drive a car .......... ?"

[2]

[]
[2]
[2]

["2]

[72]
[2]

[2]
["2]

[72]
[2]
["2]

[2]



SECTION D
(TEXT BOOK)
(11) Read the passage given below and answer the questions that follow.

Midway between Mysore and Coastal town of Mangalore sits a piece of heaven that must have
drifted from the kingdom of god. This land of rolling hills is inhabited by a proud race of martial men,
beautiful women and wild creatures. Coorg Or Kodagu, the smallest district of Karnataka, is home
to evergreen rainforests, spices and coffee plantations. Evergreen rainforests cover thirty percent
of this district. During the monsoons it pour enough to keep many visitors away. The season of joy
commences from September and continues till March. The weather is perfect, with some showers
thrown in for good measure. The air breathes of invigorating coffee. Coffee estates and colonial
bungalows stand tucked under tree canopies in prime corners.

The people of Coorg are possibly of Greek or Arabic descent. The theory of Arab origin draws
support from long, black coat with an embroidered waist belt worn by the Kodavus, known as
Kuppia.

i) Coorg is known as Yz
(i) g [72]
(A) Mysore (B) Kodagu.
(C) Mangalore (D) Kalburgi
(i) In which state is Coorg situated? [V2]
(A) Bihar (B) Maharashtra
(C) Karnataka (D) Tamilnadu.
(iii) What is famous in Coorg ? [V2]
(A) Coffee (B) martial men
(C) wild creature (D) All of these
(iv) What is Kuppia? [V2]
(v) When do visitors come to Coorg ? [2]
(vi) Write the similar word of the following from the passage. [2]
"Paradise”
OR

Mij and | remained in London for nearly a month. He would play for hours with a selection of toys,
ping-pong balls, marbles, rubber fruit, and a terrapin shell that | had brought back from his native
marshes. With the ping pong ball he invented a game of his own which could keep him engrossed
for up to half an hour at a time. A suitcase that | had taken to Iraq had become damaged on the
journey home, so that the lid when closed, remained at a slope from one end to the other. Mij
discovered that if he placed the ball on the high end it would run down the length of the suitcase.
He would dash around to the other end to ambush. its arrival, hide from it, crouching, to spring up
and take it by surprise, grab it and trot off with it to the high end once more.

(i) How long did Mij and writer remain in London? [V2]
(A) Year (B) A month
(C) Two month (D) None of above.



i) What hed become damaged during the journe Yo
(i) g g the y [2]

(A) a ball (B) a ping pong ball
(C) a Marble (D) a suitcase.
(iii) Who played with toys and ping pong balls? [2]
(A) Writer (B) Mij
(C) Both (D) None of above.
(iv) What did Mij discover? [2]
(v) What were the things which Mij played with? [2]
(vi) Write the similar word of the following from passage. [V2]
"astonish”
(12) Answer any three of the following questions in about 20-30 words each: [1x3=3]

(i) What do you know about the Kodavu people's descent? (Coorg)
(i) What do you think about the danger of an unusual pet at home? (Mijbil the Otter)

(iii) What is" twin obligations" according to Mandela? (Nelson Mandela: Long Walk to
Freedom)

(iv) How did Valli gather the information about the bus journey? (Madam Rides the Bus).

(13) Answer any one of the following questions in about 80 words: [27%2]
(i) Describe the dangerous situation the narrator found himself in. (The Black Aeroplane)

(i) How was prince Siddhartha transformed into Gautama Buddha? (The Sermon at
Benares)

(14) Answer any One of the following questions in about 40 words: [17]
(1) How did the Chubukovs prove themselves as good neighbour to Lomov? (The Proposal)
(i) How does the play "The Proposal' conclude.(The Proposal)
(15) Read any one of the following extracts and answer the questions that follow, [1x2=2]
The way a crow
Shook down on me
The dust of snow
From a hemlock tree.

(i) Who was sitting on hemlock tree?

(i) What did the crow do



OR
Custard the dragon had big sharp teeth,
And spikes on top of him and scales underneath,

Mouth like a fireplace, chimney for a nose,
And realio, trulio daggers on his toes.

(i) How did Custard look like ?
(i) Who was Custard ?

(16) Answer any two out of three following questions in about 20 words: [1x2=2]
(i) Write the central idea of the poem, 'A Tiger in the Zoo'. (A Tiger in the Zoo)

(i) What do you know about fire and ice indicate in the poem 'Fire and Ice'? (Fire and Ice)
(iii) How does the poem inspire human being? (The Trees)

(17) Answer any one out of two following questions in about 80 words. [275]
(i) Draw a character sketch of Hari Singh. (The Thief's story)
(i) What is the role of education in the life of Bholi? (Bholi)

(18) Answer any two out of three following questions in about 20 words each: [1X2=2]

(i) What caused Horace Danby to become a thief? (A Question of Trust)

(i) How did Tricki manage his food at first? (A Triumph of Surgery)
(iii) What was the reason of Liosel's ruin? (The Necklace)
(19) Choose the correct answer: [V2x3=1"%]
(i) Who was great and mighty ? (The Book that Saved the Earth)
(A) Oop (B) Noodle
(C) Think Tank (D) Omega

(i) How many species of butterflies did he collect? (The Making of scientist)

(A) Twenty nine (B) Thirty nine

(C) Thirty five (D) Twenty five

(iii) What language can Ausable speak? (The Midnight Visitor)
(A) Hindi and German (B) Hindi and English

(C) French and Hindi (D) French and German



UI9—U Pl ISl 2023—24

FeT — YT 10th
vy — fasm=
3@y — 3 gve 15 e quiies — 80
1 I 7Y PR —
B SEEta JPHAR gfererd
1 iRl 20 25
2. | IrgdwET 21 26.25
3. | SRR / srfaaafaa 19 23.75
4. | DA/ HifeTddl 20 25
AT 80 100
2. U9l & JHRIN IHIR —
9. = | gfd g T @) | Geeie) | @Y
ES G 15 1 15 18.75 29.40 15
o | Raa v 7 1 7 8.75 13.73 7
3. | SHfcreTEeRTcHD 10 1 10 12.50 19.61 20
4. | THYTRIHD 12 2 24 30.00 23.54 70
5. | SR 4 3 12 15.00 7.84 48
6. | FeeTHD 3 4 12 15.00 5.88 35
0T 51 80 100 100 195 e
fadhed AIoT - Wos @ TG T H B
3. fawg avg &1 APIR —
Esh fava ag PR | ufcerd
1| I IfAfhame ud FHieRol 6 7.50
2 | 3%, &RP U4 oAdo] 7 8.75
3 | gg 3R Af® 5 6.25
4 | BIed Ud I9d AR 7 8.75
5 | 9d UHH 8 10.00
6 | =T U9 auyg 6 7.5
7 | Shaf o gorA 7 8.75
8 | ATIafrehar 4 5.00
9 | JbTI WRIGAS dAT Ydd 8 10.00
10 | 999 =5 9T 3 O 99R 4 5.00
11 a%ﬂ 7 8.75
12 | YA gRT BT FIbIg 99T 6 75
13 SR TATIROT 5 6.25




g9 g fue

Hel — YARIpT 10th fawar :— fagm qUiE — 80
P4 e 3PS /U SHIS Bkl e SO / e DIeTeT / Aiferehell ART
H g
£ £ E E
1| e SfRfha v e | ) 3(1) 2(1) 6(3)
2 | 3%, &R& UG oAqoT 1(1) 1(-) 1(1) 1(1) 3(1) | 7(4)
3 | org &R AIf® 1(1) 1(1) 2(1) 1(1) 5(4)
4 | ®EA TG SAD ANTD 1() 1(1) 2(1) 1(1) | 2(1) 7(5)
5 | 919 UshH 3(1) | 1(1) 2(1) 1) 1(1) 8(4)
6 | M= U wH=Y 1(1) 3(1) 1(1) 1(1) 6(4)
AEEEESES 1(1) 1(1) 1(1) | 2(1) 2(1) 7(5)
8 | SMIdfRrepdl 3(1) 1(1) 4(2)
9 | UPBTI WG qAT ITUAc 1(1) 1(1) 1(1) | 2(1) 1D 2(1) 8(6)
10 | AMG 3 dA1 [T RO H9ER 1(1) 1(-) 2(1) 4(2)
11 | fagd 1(1) 4(1) TORRS 7(4)
12 | fdgd arT &1 DB 491 2(1) 2(1) 1(1) 1(1) 6(4)
13 | TART GgTaRoT 1(1) 1(1) 1(1) | 2(1) 5(4)
N7 535) | 1) | 22) | 21) | 31) | 82) | 44) | 33) | 22) | 63) | 72 | 1) | 565) | 22) | 3(3) | 6(3) | 2(1) 1) | 11y | 33) | 10(5) 3(1) | 80(51)

fRpcal & AT — WU T TG ‘T A UAPD H T JART fAhca 8 Alc— BISh & dBx B A&7 ‘3Bl & 9o IR 3 G193 & add B |

xR
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Yrs— J
Section - A

qgfadpediue :

Multiple choice questions:

=T Al & IR BT Wl fadhed a9 R IR gRaeT | folag —
Choose the correct option to answer the following questions and write it in the
answer book -

) Hhod @ T9Y §3d B3GR Wh d U FATE DI Al o— [1]

(@) ared (@) e o IR (4) AMfeid & AR (3) IWRH FHI
Prevents back flow of blood inside the heart during blood flow —

(a) Valve (b) Wall of ventricle (c) Wall of atrium (d) All of the above

i) v =R ¥ e dadt & arafie dadl 3 gRads waf W) g § 2 [1)
(31) PRI B # (d) dFEE R (H) AT W (]) BIRIGI g0 H

Where does the conversion of electrical signals into chemical signals take place in a
neuron?

(a) in the cell body (b) on the axon (c) on the dendrite (d)in the cytoplasm

i) Aa % ARd @1 Hrf B O? [1]

@)|re=T (§) Sdor 9T (9) 889 Wed (]) SuRiad Hl

Which is the Function of human brain?
(a) Thinking (b) Balancing (c) Heartbeat (d) All

iv) RRYY Sl AR@HT T a1 1&ToT BIT— [1]
(@1) T, &1 (@) FRERYET (|) M, Wl (]) SKIeR, &0

External characteristic of RRYY gene structure will be -

(a) Round, green (b) Wrinkled, yellow (c) Round, yellow (d) Wrinkled, green

V) STAc P17 () BT 719 BT § P [1]

(31) IRTGE BT A TSI (§) WRracd SIvT & FAM (F) Wiadd dior H A

() Sugaa wi



What is the value of angle of incidence (i)?
(a) Greater than the angle of reflection (b) Same as the angle of reflection
(c) Less than the angle of reflection (d) All of the above

Vi) 9TEI STl W i B FRe PRAT o [1]
(@) @ifar (@) aRaRer (¥) e Ued (]) ¥9d Ued

Protects the eyes from external shocks —

(a) Cornea (b) Iris (c) Cholera (d) Sclera

vii) I fod aRuer & 1 @@ e &I yarfed &1 § 1 S R BT U9l &,
9 g1 fdgall @& 4 fawarar sem— [1]

(@) 1 dlee @) 2 dlee (A) 3 dlee (]) 4 dlec

If 1 joule of work has to be done to flow 1 coulomb of charge in a circuit, then the

potential difference between two points will be —

(a) 1 volt (b) 2 volt (c) 3 volt (d) 4 volt

viil) Tre® IR BT ufery = § 9 fg o iR T8 et ® [1]
(37) TMeIH TR B T8 W (d) JIPRIABIC & &Fhel W (F) Sugad ami
(@) SWad # ¥ iy TRl

The resistance of a conducting wire does not depend on which of the following?
(a) On the length of the conducting wire (b) On the area of cross section
(c) Both (d) None of these

iX) AR H dle & HUR Y IR TG DI AhAT 5 [1]
(37) SmT=rTA (4) HeRvr (W) fAganifearn (3) fafawemos

The process of formation of Brown layer on Iron in the atmosphere is -

(a) Reduction (b) Corrosion (c) Virulence (d) Double Displacement

X)2CH;COOH + Na,CO3 = .o A e e oo+ Hy,0 + CO,SWRIH AT #
AfrB[AlR—[1]

(&) CH5C00 (d) 2CH;COONa(H) C,HsOH ()CaCOs



2CH;CO0H + Na,C03 = +++........A ... ... ...+ H,0 + CO,Compound [A] in the

above reaction is —
(A) CH5COO (B) 2CH;COONa (C) C,HsOH(D) CaCOs
Xi) STqU HATSTHAT DI ¥ gelag™ AN B fhdew! FHor wal 5 2

@) o @) g9 (@) g9raT Ud SROmAT QI

(@) &l A1 T @1 fFior R FHT ©

What do metals form by giving up electrons from the valence shell?
(A) Anion (b) Cation (c) Both cation and anion (d) Can form any one

Xii)" 05 "fhad e udie ® 7

(31) sifeRiIoA (d@) sifargs (A) A (]) BT
What is the chemical symbol of "03"?

(a) Oxygen (b) Oxide (c) Ozone (d) Argon
xiii) QAT BT der pH A1 fha=T 81 R YH Biae 7

(@) 55 4 HH BF W (@) 65 9 BA & W (F) 75 ¥ HH 81 W
(®) 85 ¥ ®H 8F W

Teeth decay starts at what pH value?

(a) Less than 5.5 (b) Less than 6.5 (c) Less than 7.5 (d) Less than 8.5

Xiv)gsT # TR T WRT ST A R BT § 7

(31) s (@) afdiarr (@) Yoar (]) drEcd
What is the name of the male reproductive part in a flower?

(a) Ovary (b) Stigma (c) Stamen (d) Sepal

o :
xv) I g = I 28—

(31) @oR drg &1 (@) T die @1 (@) fhdl N gedR & oz B a9/ S

[1]

[1]

[1]

[1]

[1]

FHAT & (8) 9 Ud HoR GFl & YR & dle | 78! 9411 off Fhel

Electromagnet is made in —

(a) Hard Iron (b) Soft iron (c) Can be made from any type of iron
(d) Cannot be made from both soft and hard iron.



2. b Tl & gfed $ifg -
Fill in the blanks:

) R # U S dTel TlgH B NI PEd T |
The enzymes found in saliva are called salivary -------------------- . [1]
i) wopfer ¥ <Ry aifdre frareier e ¥ [1]
The most active element in nature is -------------------- .

iii) AeT ¥ IfeeRy @ wwen STl B ® | [1]
The number of ovaries in a female is -------------------- pair.

iv) I @ el BT pH A1 gar g | [1]

The pH value of tap water is ------------- .

V) STl &7 3Yacid BT | [1]

The refractive index of water is ------------ .

vi) dlee Wex T Aqd uRuer # # Harra fear ST 7 |

Voltmeter is always connected in in the circuit. [1]

vii) It & O vd Fra—eRa darer RTH Tdbrer A3y @) edar g S g,

HEA B | 1]
All green plants and blue-green algae which have the capability of photosynthesis
are called ------------ .
3. SfterEERTe® 5 (1l BT IR T A A1 g e 7 faf)
D) <81 # SuRerd o &1 IMfe AW faRau | 1]

Write the chemical name of the acid present in curd.

i) FrefoRad acl & gl & FAoM | 999 a1l Rer fgemam el & g3
AT | [1]

Mg 3R Cl,

Give the formulae of the stable binary compounds that would be formed by the

combination of the following pairs of elements.

Mg and Cl,



iii) €T fagga @1 e g FRaT & | ;TP

Diamond does not conduct electricity. Why?

iv) BIET BT URATY] HHTh e BIam & ?

What is the atomic number of carbon?

V) TGR@T 3 B TS Ud fharHd 3dhTs T 87

What is the structural and functional unit of the nervous system?

Vi) wreHIfeT § o9 fhd fafy & g gar § P

Which method does reproduction take place in Plasmodium?

vii) ashar Boar iR B g # Fa7 Hey BT ® ?
What is the relationship between radius of curvature and focal length?
viii) 9= 31T DI IRANT B |

Define principal axis.

iX) T BRUT 7 b e &3 @ Udh —gER Bl ufdwes T8l dRdl 3 ?
What is the reason why magnetic field lines do not intersect each other?

X) GAfaReT ¥ fages - arel Sial & e foi |

Write the role of decomposer organisms in the environment.

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]



Yls— q

Section-B

AYITURIHAD YT : U1 AT 04 ¥ 15  SaxyRasr # faRay | (srss A 50

)

Short answer type question — Write the answers of question number 04 to 16 in answer

book (Word limit 50 words)

4. AMEH (X) 3R THMAEH BT ITINT ¥ o Rl &I Sre & forg faar S 2

@ afe ()P g

(i) arfaforar @1 AW faRaw |

(iii) @ fAforar faRay | [1/2+1/2+1]
Compound X and aluminium are used to join railway tracks.

(i) ldentify the compound X.

(i) Name the reaction.

(iii) Write down its reaction.
5. fd@a T &1 wHemsy ?

Explain Rancidity?

6. IR UBRIHD TRl & M IA5T—

Name the for functional groups —

7. HIATA BT el A A= BT Wad A °rde 8 Abdr g | fewoh falau |

Intake of a small quantity of methanol can be lethal. Comment.
8. URI & INR H U H¥ BT & °

How does the nutrition take place in the plant body ?

9. WM gig iR <ifre uRudedr v g 9 fbd geR = 87

How are general growth and sexual maturation different from each other?

[2]

[2]

[2]

[2]

[2]



10.

11.

12.

13.

14.

15.

16.

HIGT SIS HI AMITdhd o a9187 | [2]

Make a labelled diagram of the female reproductive system.

T4 T B R0l ORET AU & A1 TR Bl & Al Sl AN &2 g Th
fep=oT SR TS | [2]
g1 U A

Draw a ray diagram showing the path of rays of light when it enters with oblique
incidence

from air into water.

I qUYT gRT 991 wfafewat &1 Rerfer @ gt € 7 [2]
What are the positions of the images formed by the convex mirror?

Je o Yl @ o ¥ 2 [2]
What are the properties of Magnetic field lines?

ST W T RN FHIE ? [2]
What do you understand by Short Circuiting?

e Sfaw § @1 aR wfafafet gemd S vaferer & e 8 | [2]

Suggest any four activities in daily life which are eco-friendly.

Yig—Y
Section-C

FAT BIAT B 99 — [3]
(i) NS arg & HIRASHe ard H A Sar g ?
(i) T FewmR® rdt # i o1g g S 2 2

Ife ffhar Bl & a1 dqferd arife FHieRor W ford |

What happens when a piece of
(i) Zinc metal is added to copper sulphate solution?
(i) Zinc metal is added to dilute Sulphuric acid?

Also, write the balanced chemical equation if the reaction occurs



17.

18.

19.

34T

ON O\ O\

f=feIRad 5 & ISP BT Th STERTT ThR AHSISU— [1% + 1%]

Explain the following by giving one example of each —
(i) Combination reaction

(ii) Displacement reaction

UIey BHA A 3T 9T A & ¢ fbwsl & UIey 8™ & A Ud Uh—Tdh B
forau |

What do you understand by plant hormone? Write the names of any two plants

hormones and one function each. [1+1+1]
3AdT
q9g ¥ HARTSs & fAfa= W & 9 vd ®rf falRaw | [1+2]

Write the name and functions of different parts of the forebrain in humans.

e @ fgddx FHvoT & I8 &I GHISU | [3]
Explain Mendel's law of dihybrid hybridization.
3AdT

HSel ERT UfAUIad Yramryr & | &1 |AHsgy | [3]

Explain the law of segregation propounded by Mendel.

(1) e MBI & [T Alell T fa@rg a1 g ? [3]
(2) B9 a9l & a1 & MBI H 35 Gy i fq@rg <ol 7 ?

(1) Why does the color of clear sky appear blue?
(2) Why do we see rainbow in the sky only after rain?

Jrerar
(1) fsat wara fod wead ® ? [3]

(2) AR feafenra @l udfid 81 & ? wHssy |

(1) What is Tyndall effect?

(2) Why do the stars appear to twinkle? explain



20.

21.

22.

LYrs—q

Section - D

(1) ot foe medt 8 ° [1+3]
(2) T BT B, O BIS T GG B A IFARKAT BRaT B | AHRST-

(1) What is called acid?

(2) What happens when an acid reacts with a metal. explain -

34T

(1) srenfeass SifaATSS @1 UPfd Hul Bl & 7 [1+3]
(2) forksre ol &1 RS 3 folad gU @ig 9 SUAnT faRag |

(1) What is the nature of non-metallic oxide ?

(2) Write the chemical formula of bleaching powder and write any three uses.

IHIET ¥ gyer fafer 1w |Hssy ? [1+3]
Explain the method of nutrition in amoeba graphically?

34T

(1) SMHTET | PIFAT 3Tl fdherdr & ? [1+3]
(2) MR ¥ 3 & T B for@l ? T BT AfS SMHIEY H YOI &I A9 e
BN | HHSSY —

(1) Which acid secreted from stomach?

(2) Write to funcation of acid in stomach? What will happen if mucus is not secreted
in stomach? explain -

(1) fagad uRuy fod wed 8 ? [1+3]
(2) frll fagd 9cd & O 4 W 05 A | fIgd o1 10 e & 999 & fofg yarfzd
@ Sl 2 | fagd uRuer | warfed fdgd 3Masr &1 uRETT e Iy |

(1) What is called electrical circuit?

(2) 0.5 A electric current is passed through the filament of an electric bulb for a
period of 10 minutes. Find the result of electric charge flowing through the electric
circuit.?

Jrqar
(1) mferrer fod ded 8 ? [1+3]
(2) fo<l aretd IR &7 UfeRe fha—fd Aot R iR a=ar g °?

(1) What is called resistance?

(2) On what factors does the resistance of a conducting wire depend?



UI9—U Pl ISl 2023—24

e — Af3TeT 10th
fawa — amfoie fasm
3@y — 3 gve 15 e quries — 80
1. Igaed B IAPIR —
Eokch SEEta JPHAR gfererd
1. | 3™ 32 40
EEELE] 38 475
3. | SRR / srfaaafaa 6 75
4. | DA/ HifeTddl 4 5
IR 80 100
2. g & YHRAR JHIR —
: Y3l Dl bR YAl Dl | 3D B b gfcrerd gfderd | |wifdd
9. =g | ufd gee T e | i@ | 9T
1. | xS 15 1 15 18.75 29.41 22
2. | Raea = 7 1 7 8.75 13.72 14
ISR SNRED 10 1 10 12.50 19.61 30
4. | THIRTHAD 12 2 24 30.00 23.53 )
5. | STISTNY 4 3 12 15.00 7.84 36
6. | FagTH® 3 4 12 15.00 5.89 51
IT 51 80 100 100 195 fA9e
fdhed AT : Wvs §' Ud T H B
3. fawa a5 &1 PR —
sl [EERIERS! PR | ufcerd
1 | IR H IAE BT IS 4 5
2 | Rd H Igarg 4 5
3 {Hﬂ@?ﬁw faeq &1 g9+ 4 5
4 PTG 4 S
5 | F=0T Wf%r 3R 3MYFTH g 4 5
6 | i oIk e 3 3.75
7 | 99 3R IIoNg T 2 25
8 | ol gHEA 3 3.75
9 |l 3 3.75
10 | @S T Sofl e 4 5
11 | fafs=ior SemT 2 25
12 | TSR TR BT Sia GV 3 3.75
13 | I DI AN 4 5
14 | FEdTg 4 5
15 | SIIfa ¥ 3R i a9t 4 5
16 | JIoMIdd <l 5 6.25
17 | Arpaa & aRumH 3 3.75
18 | faere 3 3.75
19 | IR Ida=en & a9dh 5 6.25
20 | 9&T 3R 9 5 6.25
21 | dAIHROT SR IR rfega=en 5 6.25
22 | SUHIEIT 3TEPR 2 25




g9 g fue

DHeTl — YAfRIHT 1091 fawg — AT fa=m qulics — 80
. e 3PS /U SHIS Elil EECIC] SN / e DT / Aiferehell ART
.
HIRHII R L A
£ E E E

1 | JRY H AT BT IS 4(1)* 4(1)
2 | Rd H IEATG 1(1) 1(1) 2(1) 4(3)
3 | yHUSHAIRd fagd &1 g7+ 1(1) 3(1)* 4(2)
4 | NSTHROT BT T 11y | 1D 1(1) 1(1) 4(4)
5 | RV WG SR smgfe g |y |10 2(1) 403)
6 | IR IR famr 2(1) 1(1) 3(2)
7 | 99 3R ggola G 1(1) 1(1) 2(2)
8 | STl HAH 1(1) 2(1) 3(2)
9 |@f 3(1)* 3(1)
10 | @lFrer qem ol G MO PTEN
11 | fafemroT gt 1(1) 1(1) 2(2)
12 | T SrfeaRelT dl Sia @y 21) 1(1) 3(2)
13 | AT &I AR 1(1) 21) 1(1) 4(3)
14 | GHdIg 1(1) 3(1)* 42)
15 | STIfdl & 3R T A9t 1(1) 21) 1(1) 4(3)
16 | JoHITTD ad 1(1) 1(1) 1) | 21 5(4)
17 | didpad & giRkomd 1(1) 2(1) 32)
18 | fdw™T 1(1) 2(1) 3(2)
19 | YR 3fieudvel & &5 1(1) 1(1) 3(1)* 5(3)




20 | a7 3R W 1(1) 4(1) 5(2)
21 | J¥AHIUT IR R 3rfegawel 1(1) 2(1) 1(1) 1(1) 5(4)
22 | ST IMfTHR 2(1) 2(1)

T 8() | 6(6) | 44) | 14(7) 7(7) | 1(1) | 6(6) | 10(5) | 6(2) | 8(2) 6(2) 4(1) | 80(51)

e &Y Ao -— TUS F' TG T H UAPD H U INdRP [Abcd 8 Hlc— HIod & 98X I O] Bl &I JoT Iex & =T ‘U & &dd © |

BEIY
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g —
Section- A

gEfTss e (Objective types Question)
i) 9o fa9d gg &1 LHIATT D g8 7
) 1914 q) 1918
dq) 1929 T) 1939
When did the First world war begin?
A) 1914 B) 1918

C) 1929 D) 1939

ii) IRETT FIWE BT Aqed fbae fbar ?

) HETCHT WM d) URGR doov Ucd

W) Wa g 3) Sl Ios uNR
Who led the Bardoli Satyagraha ?

A)  Mahatma Gandhi B) Sardar Vallabh Patel

C) Bhagat Singh D) Dr. Rajendra Prasad

iii) WI & 394 9 g g 7

3) g are 9 =g BYUled
W) AEdd I RSS!
Steam engines are related to ?
A)  James Watt B)  James Hargreaves
C)  Michael Wolf D)  Aristotle

iv) 1780 H UGG §T 7ol ST off 7

3) < 9  W«ied

S/IIIER q) aff®
The Bengal Gazette magazine published in 1780 was ?

A) Daily B)  Weekly

C) Monthly D)  Annually



V) MRd & &%he &1 fhaw Uferd WRT USRI &5 & 3faiid 3mdr & ?

3) 43 yfaerd q) 27 yfderd
W) 30 uferd ) 9 yfderd
What percentage of the India's area comes under the plateau region?
A) 43 Percent B) 27 Percent
C) 30 Percent D) 9 Percent

vi) IRt 919 Rod Rerd & —
) IR q) AU
) NIoTRIH T 3|
Sariska Tiger Reserve is situated in -
A)  Gujarat B)  Madhya Pradesh
C) Rajasthan D) Assam

vil) YRd BT AT & Iaa ¥ fava # w9 © —

) usal C) BRI |

W) AN 3)  drer
India's place in the world in the production of sugar is -

A)  First B)  Second

C)  Third D)  Fourth

viii) f=faRaa & & Sior aRdgs &1 TR & —

) Fed UgRgEd q) o uRagd

W) uRudrE ])  9gel uRaed
Which of the following is a type of water transport -

A) Roadways B)  Railways

C)  Pipelines D)  Overseas



ix) Rigel fod <1 @ IrommeT § 7 (1)

3  dfesram q)  sicidr
[ AT 3) U
Sinhali is the official language of which country?
A)  Belgium B)  Sri Lanka
C)  Netherlands D)  Nepal
X) A BT IS AT H Tl IR DI F&AT 8§ — (1)
) 21 d9) 20
) 22 q) 24

The number of languages recorded in the 'Eight Schedule' of the constitution is?

A) 21 B) 20
c) 22 D) 24
Xi) 2011 B STTOET & FTAR IRA BT felfgurd & ? (1)
) 929 §) 943
q) 919 T) 939

The sex ratio of India according to the census 2011 is ?

A) 929 B) 943
C) 919 D) 939
Xii) 9 ¥ B Igoi FHST UTS] BT WP © 2 (1)
3)  BIYRM §)  |rg HERMS
W) dIRIR. IS H ])  SAIfder g
Who among the following is the founder of the Bahujan Samaj Party?
A) Kanshi Ram B)  Sahu Maharaj

C) B.R. Ambedkar D)  Jotiba Phule



2)

Xiii) T IR BT ARSI UPpiad Iihar 3 e fha &x a1 fafafer 2—(1)
3) UrRIH® q) foda®
q) e 3)  SYga |4l

Production of a commodity mostly through the natural process is an activity of

which sector -

A)  Primary B)  Secondary
C)  Tertiary D)  All of the above
Xiv) 9 B NTIARH el § WA 81 & — (1)
) I q)  dEen At
W) NTEBR q) T A B A
Formal source of credit does not include -
A) Bank B)  Cooperatives
C) Money lender D)  None of these
Xv) RIS QUR ¥ Frfyd s\t o FaiRa a=ar g ? (1)
)  W.T.O. 9)  UN.O.
¥ RB.L ] T wd
Who determine the rules related to interrational trade?
A)  W.T.O. B) U.N.O.
C) R.B.L D)  All these
Raa et @ gfif S
Fill in the blanks:
i) 9998 ¥ Ugell dusT fAet............. H o (1)
The first textile mill was established in Bombay in ..........................
i) AR GRD & oRID oo = (1)

.................. is the author of the book Gulamgiri.



Crude Oilisanon ........cceuee....... resource .
iv) faf=1 <2l & drg R T iR g UHIHR0T & ufshar ... gl (1)

............. is this process of rapid integration and interconnection between different

countries.

v) RRMHA sr@rell g1 &1 FR & T R (1)
Shiromani Akali Dal mainly belongs to the state of ....................

'6) D A UOTe H Sifaw wfad Sear § fAfed Bt 21 (1)
Ina.....cce..... system of governance the ultimate power lies with the people.
vii) STITERATA 8% Td ¥ ... DI IAYAD AR b HQY Pl PR A | (1)
Jawaharlal Nehru proudly proclaimed the ............ as the 'temples of modern
India'.

SITTETRIHD U : 777 U1 & SR U Ieq 37dl Tep Gfdel H ST |

Very short answer type questions : Answer the following question in one word or

one line .

{) TR @1 ® ? (1)
What is Begar ?

ii) FelTS wreet @ § ? (1)
What is Fly shuttle?

iii) RUFT S BT 3fdshR =T faear 2 (1)
Who invented the spinning jenny?

iv) &R & fafv= i & W faleag ? (1)
Write the names of different organs of the governement ?

v) I0T R | MY RIT FHST & 7 (1)

What do you understand by varna system?

vi) RIS Sl Bl AT 9 19 &8 i 3fdfed oxar © 2 (1)

Who allots accreditation and election symbols to political parties?



vii) Hhel BNe] IcUTE Dl YRHINT SISy ? (1)
Define gross domestic product?

viii) T ST RTF6T FRER UE 9 1fd/d <20 § 8, 9T Hedwl & 2 (1)
What are those companies called which do business in more than one country ?
ix) YRAR g=asiiae o1 R f oy ar] fhar ar ? (1)

In which year was the Indian Wildlife Protection Act implemented?

X) &I YUYl | AT R FIT Y9G USd § ¢ 9eT H garsy | (1)

What are the effects of noise pollution on humans? Explain briefly.

Y — d

Section-B

TETRICHD U3 © (STR Teq HIHT I 50 Ieq)
Short answer type questions: (Answer word limit approx: 50 words)

ATSHE HHITE YRA Rl ST ? )

Why did Simon commission come to India?

Ul HEPIA - IRA H rgdig & fdbr § a1 Irere fear ?
(@12 <1 fawg fefm) (2)

What contribution did print culture make to the growth of nationalism in India?

(Write any two points)

| DI ARIGR! I S0 & ? Blg &l T QY | @)
Why is power sharing important ? Give any two agruments.

fh=2l QI yTaerm=i &7 5T oY i MIRA &l oF ARUeT g 9991 § 2 2)
Mention any two constitutional provision that make India a secular state?
RIS Sl H GEIR & PIg al g3l B ook BN 7 7))

Mention any two points of reform in political parties?

Alpas & Big af Mdd IuAfRET qargd | (2)

Explain any two economic achievements of Democracy.



10)

11)

12)

13)

14)

15)

16)

gRviar o™ & fofv i gyl 272 (2)

Why is sustainability important for development?

facel IR @ STRIGIOT | 3T T FHS § 7 (2)
What do you understand by liberalisation of foreign trade?
IOIIT GReTT AT 1986 & AT & SToxd FI US! ? 2)

Why was there a need for the enactment of consumer protection Act 19867
UBTS! & § HaT 3[R Bl JHAH & o7 T H3H IS =AMy ? 2)

What steps can be taken to control soil erosion in the hilly areas?

THST IERI QT & DIy & dAed dargy ? 2)
Mention any two goals of 'Narmada Bachao Andolan'?

I He™ H X uRRag &1 [derd Ud R @1f¥eh g f2H1ad vady &3 § &4
B3I & | BRI 18y | 2)
The development and expansion of rail transport has been more in the northern

plains and less in the Himalayan mountain region. Give reason ?

Yis — 9

Section-C

<TE TR U9 : (STR e AT THT 100 9R)

Long answer type questions: (Answer word limit approx: 100 words)

e B A B Ry Su Wi TRRefRE B 9o B ? ()
Describe the Geographical conditions required for the growth of rice?

31e1dt1 / Or
T8 SHidPT PV DI ARSI §U SHD! TS FHYT Fsy ?

While explaining intensive subsistence farming, explain its main problems.



17)

18)

19)

1929 @1 HETHAI P AHSI Y D &I HRUN B Iocid HIfoTg ? (3)
While explaining the great despression of 1929, mention its two reasons?

31erdr / Or
RRMACAT Yo &1 a1l W #Rd g A9 4 Ay T fJaR0l & R W I
Bl & R H g8y ?
While explaining the meaning of the indentured system, explain its condition on

the basis of the details given in the chapter.

A Saven & g faRvarsii &1 9o FHIfy | (3)
Describe the main features of the Federal System?

31erdr / Or
1992 & AL HAYT & UYgel 3R 916 & WM AET & AgdYYl AR| Bl
qqrg ?
Explain the important differences in local governance before and after the

constitutional amendment of 1992.

RIS ¥ 7 AU 2 ? RIS & &I UHRI BT Seetd HIfog | (3)
What is meant by unemployment? Mention two types of unemployment.

3 qdr / Or
ATII~D &3 qT 7ol &5dh H R Bifoy ?

Difference between public sector and private sector.




Yrs — ©
Section - D
aaTHS U ¢ ([TR Ieq AT TRTHIT 200—250 I1e8)
Essay type questions: (Answer word limit approx: 200-250 words)

20) FHfaRad o fewoflt forlRag ? (4)

1. o Ay & Qi

2. a1 & BRI
Write a note on the following?

1. Demerits of Barter

2. Function of Money

31erdr1 / Or
ARG 9§ AU T FASK § ° R H SNUAiNG &56 § A B He Rl
PR |
What do you understand by creditability? Explain in briefly credit in the formal
sector in India.
21) Wi HIifd & gard wid # MY 98ardl & fadR | 9o DI | (4)

Describe in detail the changes that took place in France after the French

revolution?
341/ Or
fcs 5 Irgare &1 gicre™ AV PRIT B o1 J 5 ghR A= o ?
qUE IR |
Describe how the history of nationalism in Britain was different from that of the

rest of Europe ?



22)  UEH &1 SR ¥ W "AERF | ARY -

Write the answer in the given map:-

e T IRd @ &1 "R #§ FEAfalRad drren @l By ifed B (@)

31) RIRIe q) IR
q) R T) wdel
Mark the following Coal mines in the given outline map of India ?
A) Singarauli B) Raniganj
C) Singareni D) Neyveli
3gar/ OR

R T IRTG & Y@ A H§ FEfRead emufds ol |93l &1 sifed
I |
3) RN q) aaTeT
) BeludnH BSINEN
Mark the following nuclear power plants in the given outline map of India?
A) Naraura B) Rawatbhata
C) Kalpakkam D) Tarapur



UI9—U Pl ISl 2023—24

e — AT 1041
fawg — 1o
gy — 3 gve 15 fHe qurids — 80
1. ITeYT TG IAPIR —
% . SEEea JAHIR gfcrerd
1. |9 20 25%
2. | 3rgd 21 26.25%
3. | SFUART / riegtad 19 23.75%
4. | prerdd / Aiferadl 20 25%
ART 80 100
2 gel & UHRAR ABAR —
kil & | gfd g @@ a1 | Getwn) | qEY
1. | axqfrs 15 1 15 18.75 29.41 30
2. | Raad = 7 1 7 8.75 13.72 15
3 :ﬂﬁﬁw 10 1 10 12.50 .19.61 35
4. | TS 12 2 24 30.00 23.53 45
5. | TSN 4 3 12 15.00 7.84 35
6. | MaeTH® 3 4 12 15.00 5.89 35
AR 51 80 100 100 195 i
fdheq AT @ Wos ' Ud ‘T H B
3. fawg avg &1 PIR —
. [EERIEES! JHpR | ufaerd
1 | IR<Ifde A= 4 5%
2 | 98Us 4 5%
3 |3 =R g1l g qHIHROT g 4 5%
4 | fgara FHeHRo 4 5%
5 | g Siforn 6 7.5%
6 | e 4 5%
7 -ﬁé?l & Sarafa 7 8.75%
8 | PromAfa o1 aRem 8 10%
9 | Proprofiifd & srquanT 5 6.25%
10 |99 6 7.5%
11 | g1 | FRIId ewhd 5 6.25%
12 | TSI &3%hd SR AT 6 7.5%
13 | ARG D! 13 16.25%
14 | U 4 5%




g—u4 & fU 2023—24

DeT — YAfTHT 1041 fqwr — i qulies — 80
P4 e 3PS /U SHIS Elil e SN / e DT / Aiferehell ART
3 3 s 3
E E E E
1| I e 1 1| 20) )
2 EEEE 1(1) 11 2(1) 4(3)
3 Tl =R aTet XRIP AHHROT I 1(1) 1 | 2m 4(3)
4 | fgard TR 41 4(1)
5 NTHTAR ’ﬁl'%'éﬁ 12) | 1) 3(1) 6(4)
6 | Py 1) 1) |20 403)
7 | e st 1(1) Doy |3 7(4)
8 Brprofafa o1 aRe 1) | 1) 2(1) 4(1) 8(4)
9 | o & SrguanT 1) 1@ |20 5(4)
10 ESl 1(1) 2(1) | 3D 6(3)
1 | g | wEfd aawd iy | 'Yy | 54)
12 | USRI eFhdl JIR A iy | D ey |2 6(5)
13 qiReTDT 1(2) 12) 2(1) | 3(1) | 4D 13(7)
14 | "Il () | 1) 2(1) 4(3)
ART 4@ | 1) | 30) | 8@ am | 4@ | 20 | 1) | 4@ | 6@ | 4 | 33) | 30) | 2 | 4@ | 3) | a0 | 4@ | 1) | 4@ | s@ | 30) 80(51)

fRpcal & AT — WU T TG ‘T A UAPD H T JART fAhca 8 Alc— BISh & dBx B A&7 ‘3Bl & 9o IR 3 G193 & add B |

xR




JafTehT AT URIell, 2024

Praveshika Secondary Examination, 2024
THAT URA-UA
Model Paper
hell — 109
Class - 10™
fawar — wrforq
Sub : Maths

| : 03 gUC 15 A quTies : 80

et & fory | e —

1. QIEeft U 31U U UF W Aih JffHardd: ford |

2. O YT B HeAT At g |

3. UAP U BT IR ol T3 IR YRaAd1 d & ford |
4. 591 9ol 9 IIR® WUS ©, S A4 & IR Ud A1 & ford |

5. U & IR foRas ¥ g4 U &1 HHId qaed ford |



Te — 3
Section— A

ggfdcbedia ge

Multiple Choice Questions :

T aRgTSe Ul & IR Bl Fal [dded a7 dR IR gRaar H faRay —
Choose the correct option to answer the following objective questions in the answer
sheet-

i. AT 96 3MR 404 PT A, BT —
@) 16 @) 12 (@) 8 (@) 4
HCF of numbers 96 and 404 will be -
(a) 16 (b) 12 (c)8 (d) 4 [1]

ii. AT IgUEp (x)=x*—2x-15F YLI® ad b8 Al ab BT AN BT —

@) 15 @) —15 (| 5 ) 2

If the zeros of the polynomial p (x) =x*-2x - 15 are a and b, then the
value of ab will be —
(a) 15 (b) -15 (c)5 (d) 2 [1]

ili. 2 3 4,5 6 & 3Ad (ATF) BRI —
(@) 2 @ 3 @) 4 @) s
The average (mean) of 2, 3, 4, 5, 6 will be —

(a) 2 (b) 3 (c)4 (d) 5 [1]

iv. A 2x+y=68 Al SH A< B dATell T BNT—
@) (1, 2) @ @ 1) ®) @ 2) () (1. 1)

If 2x+ y = 6 then the pair to satisfy this, will be- -

(a)(1,2) (b) (2,2) (©)(22) (d) (1,1) [1]



V1.

Vil.

Viii.

1X.

IfT AP &7 YUH US 6 3R WG R 3 & Al AP BT —
@) 6,9,12,15, . @)-6,-9,-12,-15.........

(9)3,6,9, ... (@)4,-6, 9,.........

If the first term of AP is 6 and common difference is 3 then AP will be —

(a)6,9,12, 15, ... (b) -6, -9, =12, =15 ~-—-——-—-

(O T T — (6] R P —— [1]

e o @ B IR @ BaIel T8 g —

(&) DrDIT-BTT @ go—roT—geT

(®) gy (8) WroT—gaT—gsn

Which of the following is not a criterion of symmetry?

(a) angle-angle-angle (b) side - angle-side

(c) arm - arm — arm (d) angle - side — side (1]

fa9g A (4,0) AT B (0,4)81 A1 AB &T #7ed fa=g BRTT —

@) 0. 2) @ @ o ®) @ 2) (&) (2-2)
If A (4,0) and B (0, 4) are points, then the midpoint of AB will be —
(a) (0.2) (b) (2,0) (c) (2,2) (d)(-2,-2) [1]

AABCH /BHHBIUT & AT CosA =§ 2 a1 Sin AHT A BRT—

@) )

B lw

@ ¢ )

Sla
w | !

In AABC, ZB is aright angle and CosA = % then the value of Sin A will be —

(a)3 (b)s (©) (d)3 [1]

Y AR & BT 3T $AE & aRISR B A G BN ST BIVT ERT—

» o

(@) 30° @) 60° (|) 45° () 90°

If the shadow of a tower is equal to its height, then the angle of elevation of
the Sun will be-
(a) 30° (b) 60° (c) 45° (d) 90° (1]



x1.

Xii.

Xiil.

X1v.

XV.

T SRR 10—25 HT a1 forg & —

@) 10 @) 15 @) 175 @ 25

The class symbol of class interval 10-25 is -

(a) 10 (b) 15 (c) 17.5 (d) 25 [1]
e g0 & @ & AR W di 18 el xan emre § g § -

(a1) o= (@) wARR (w) wfreedy () vad

The tangent lines drawn at the ends of the diameter of a circle are -
(a) perpendicular  (b) parallel (c) Intersecting (d) borer (1]

ST 7 . AT U TIBR i b HUR UH MG T ol B | AN B
SfereH AT & Heball & —

@) 7 3. @) 14 ¥ (&) 21 | () 28 |HI

Side 7 cm. A hemisphere is placed on top of a cube-shaped block. The

maximum diameter of a hemisphere can be -

(a) 7 cm. (b) 14 cm. (c) 21 cm (d) 28 cm [1]
TP g B YIH aAqATT B BT BT AT Bl & —

@) 30° @) 45° (|) 60° () 90°

The value of the angle of each quadrant of a circle is-

(a) 30° (b) 45° (c) 60° (d) 90° [1]

U U BT SBTd O R 6 I g1 3fh 3 BT UIyehal & —

@) o @ 1/4 @) 1/2 (@) 1

The probability of getting a number greater than 6 when a die is thrown is - (1]
(@0 (b) Ya (c) 2 (d) 1

TR Aol —3,—%,2,— — —%T 11 91 U 2|

(@122 @)30 (|)25 (2)32

Arithmetic series is —3, — %, 2,— — — . the 11th term of this A.P is -

(a) 22 (b) 30 (c) 25 (d) 32 (1]



1il.

1v.

V1.

Vii.

11.

PR wei 3 Refwt el @ gl e g9 Sk qRen iR —

Fill in the blank spaces in the following questions and write in your answer sheet -
AP.:3,1,-1,-3 T UJH UG......... Td Wd SR.......... 2l

A.P. The first term of 3, 1, =1, =3 is.....and the common difference is ...

Cos%60° + Sin*60°HT B ..o 2 |

the solution of Cos? 60° + Sin260°is .........

TE g b R 6 WAL T HATS 8 WL B ¥ @l fodd FATE....... 2

The radius of a cone is 6 cm. And height is 8 cm. The slant height of the cone is.....

CRIERECICISICIIC 112 Col | G B B =

The formula to find the median of grouped data is .............

I UeT0T BT 79 FOTFH] IRIRAT Fad 3D BT B HEATT B |

oS! Bl e 31 g3 gRT 1 fAe H AT BIOT BT AT o Il © |

The value of the angle subtended by the minute hand of a clock in 1 minute

There is a probability of an impossible event.

3T THRIAD Y -
Very short answer question:

1260 & JAMTSY OIS Bl G1did & w4 H faRag |

Write the prime factors of 1260 as exponents.
e 9gUG2x2 + x + kBT b YD 3 © Al kBT A S DI |

If one zero of the polynomial 2x2? + x + k is 3, then find the value of k.

(1]

(1]

(1]

(1]

(1]

(1]

(1]

(1]

(1]



1il.

1v.

V1.

Vil.

Viil.

1X.

9 URYeT qoIT 8 UF BT Hed 54 2. & | 3 AISHIONAT FHIHRTT & U ¥ fIfay |

The cost of 9 pencils and 8 pens is Rs 54. Write this as an algebraic
equation.

. AE 3
mﬁDEllBC%aﬁ:E—C?am

AD =2.7cmg d DB <THTS SMd PIfoe ?

: .. AE 3
In the picture DE || BC is |fﬁ=5 and
AD = 2.7cm then find the length of DB?

fIg PG, 4) @1 X— 317 9 T forlRad |
Write the distance of point P (3, 4) from the X-axis.

14 IR P31 & WMol BT AT IS &%l S difoTy |
Find the total surface area of a sphere of radius 14 cm.

TP T B HATs 1 T Td SHBT IHYSII &%l 968 a7 I § Al 9ol B
MR BT B sid SR |

If the height of a cylinder is 11 cm and its curved surface area is 968 square cm,
then find the radius of the base of the cylinder.

351 14 I aTel U g9 BT U a9 D= IR 60°HT IV F<INRT PRall © |
Y P TS ST DI |

An arc of a circle of radius 14 cm subtends an angle of 60° at the centre. Find the
length of the arc.

6 W $F Udh T™ DI BIAT 23 W o=l 81 A G BT I+l HIvT A
BT |

If the shadow of a 6 meter high pillar is 2+/3 meter long, then find the angle of
elevation of the Sun.

20 X $F T & G F Y G BT AGTHT IV 30° & A DI YA db Ugad H

fepert & et Bl 2
The angle of depression of a boat from a 20 meter high river bridge is 30°. What
distance must the boat cover to reach the bridge ?

(1]

(1]

(1]

(1]

(1]

(1]

(1]

(1]



10.

1.

Ys — 9
Section-B

THRIHD T —
Short Answer Type Questions :

Rrg PN 6 V2 T uRey I=m B [2]

Prove that ﬁ is an irrational number.

. 3 1 L . . ..
A IGIT 6’3 - Tx B LAE -, — £ 8, T AP TF RN & ey B Fearell

P S DI |

If the zeroes of a polynomial 6x°—3 — 7x is%, - % , then check the truth of the relation [2]

between zeroes and coefficients .

THIBROT BT x—y + 1 = 031X 3x +2)— 12 = 0BT & HIFY |

Solve the group of equations x-y+1=0 and 3x + 2y — 12 = 0. (2]
ABCD & w9eid & frad AB || CD g don 59 fdel e fdg 0 wR ufoees
: A0  CO
Hd & d gz & 20 = Do
ABCD is a trapezium in which AB || CD is and its diagonals intersect at point
A0  CO [2]
o then show that — = —
BO DO
X— 38T R 98 a5 = Iy ST favgaii A6, 5) 3R B(—4, 5) ¥ TG T | o]

Find the point on the X-axis which is equidistant from the points A(6,5) and B(-4,5).

=iy o1 ABC % AB=24 Al BC=7 ¥ GaZ/B=90° § @ Sin AT Sin C &T 714
ST DI |

In a triangle ABC, AB = 24 cm, BC =7 cm andZB = 90° then find the value of Sin A [3]
and Sin C.

T qHdA S TR G AR B BT 40 AR ey ow=il & Sl § 5d QA Bl
AT PI0T 60° W BEHR 30° B Il 8, HAR BT SHATg Sd BIorg |

The shadow of a tower standing on a level ground becomes 40 meters longer when
the angle of elevation of the Sun decreases from 60° to 30°, find the height of the [2]
tower.

g HIRR &5 sl g0 @ o & R W= il 1€ el Y aar=R 8l 2

Prove that the tangents drawn at the ends of the diameter of a circle are parallel. [2]



12. 12 9. 1 96l TP ga @1 SaT e IR 60°HT BIVT ARG BRel & | W g
g <19 ga@el & A% S Iy |

12 cm. A chord of a circle of radius subtends an angle of 60° at the centre. Find the
areas of the corresponding minor and major circle segments. (2]

13. Udh SIIR P HTs 5 Hiex diels 30 9 $aTs 3 Wex 21 SR 9919 # 20 98 X
10 S X 7.5 HY A1 PY fHaAT sci dF MATIdHT T ?

The length of a wall is 5 meters, width is 30 cm and height is 3 meters. How many
bricks measuring 20 cm x 10 cm x 7.5 cm will be required to build a wall? [2]

14.  fa=faRaa el &1 dreged Sd B —

X 20 25 28 29 33 38 42 43

EIRSEIRG! 6 20 24 28 15 4 2 1

Find the median of the following data —

X 20 25 28 29 33 38 42 43

frequency 6 20 24 28 15 4 2 1 [2]

15. QI UTHl BT U A1 Bl ST 2 | §9P! a1 Wi 8 f —
i. <Er Ul | O|EE 8w uTe BT |
ii. 1 9TEl & 3fehl BT INT 7 UTK BT |
Two dice are thrown simultaneously. What is the probability that -

i. Equal marks will be obtained in both the dice.
ii. The sum of the numbers of both the dice will be 7. (2]



16.

HERRER RS

s — 9

Section—-C

Long Answer Type Questions :

fr=forRaa dea &1 garaR J1eg wfoud Ay fAafy 3 sid Hifse —

it 10—25 25—40 40—55 55—70 70—85 85—100
RES]
IRERAT 2 3 7 6 6 6

Find the arithmetic mean of the following distribution by assumed mean method —

Social 10—25 2540 40—55 55—70 7085 | 85—100
class
interval
frequency 2 3 7 6 6 6
341
A e gam de Ud welT @ 40 et & Wk gwit @ 2
IR fhY ff 40—45 45—50 50—55 55—60 60—65 65—70 | 70—75
faenfear o1 3 5 10 8 7 4 3
RsECll
faenfeat &1 aredd YR SId I |
The distribution given below shows the weights of 40 students in a class.
weight in kg | 40—45 | 45—50 50—55 55—60 60—65 65—70 | 70—75
number of 3 5 10 8 7 4 3
students

Calculate the median weight of students.

(3]



17.

18.

19.

T 100 UThd WAT3H BT ANT S BHITOTY |
Find the sum of the first 100 natural numbers.

34T

AP.BT YUH US TG IifH g HHI 1 9T 11 & IT $HS UGl BT ANTHS 36 & ol
el &1 GAT Sd B |

The first term and last term of A.P. is 1 and 11 respectively. If the sum of its terms
is 36 then find the number of terms. [3]

fagall P (-3, 4) 3R Q (4, 5) BT SIS+ dTel WHRIUS Bl FARMINGTT B drel fa=gall
& fAcerne Ad SIS |

Find the coordinates of the points trisecting the line segment joining the points P
(3,4) and Q (4,5).

34T
g8 U Sd BIFIY Siaid g (-3, P) fag3ll (=5, 4)3iR (=2, 3)I 3r=: farford
IRAT 8| PHT A9 A ST By ?
Find the ratio in which the point (-3, P) divides the points (-5, -4) and (-2. 3). Also
find the value of P? (3]
g oI & 5l g0 & aRva waiaR T, FFagHs 2T 2|
Prove that a parallelogram circumscribing a circle is a rhombus.

34T
g PR % 9 & aRad 0 TIPS B /M — A B Yo g R GRS
BT AART HAT 2 |
Prove that the opposite of a quadrilateral circumscribed about a circle sides

3
subtend angles Complement on center front arms . [3]
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Section—D
IFCRIRCOR EE
Essay Type Questions:
20. fr=foRaa offes 225 fastell SuwmRol & Ufera Siad &rat (Gvel ® ) &) o <d
.
STa BT 0—20 20—40 40—60 60—80 80—100 100—120
(eroct #)
CIREEIRS| 10 35 52 61 38 29

SUHRUN BT TgelD Sild= Plel ST DI |

The following data shows the observed life span (In hours) of 225 electrical appliances:

Life span 0—20 | 20—40 | 40—60 | 60—80 | 80—100 | 100—120
(in hours)
frequency 10 35 52 61 38 29

Find the mode life span of the appliances.
3AdT
f=faRad de9 Ud Algeel @ dedl & <fHd old @d qUMAT € | 7, 99 9d 18 %

2| g« IRERAT [ Sa DI |

aiiaﬁa—s[@é 11—13 13—15 15—17 17—19 | 19—21 | 21—23 | 23—25
(& #)

izl isres| 7 6 9 13 f 5 4

The following distribution shows the daily pocket money of children in a locality.
Mean, pocket money is Rs 18. Find the missing frequency.

Daily pocket | 14—13 | 13—15 15—17 17—19 19—21 | 21—23 | 23—25
money (in
Rs)

number of 7 6 9 13 f 5 4
children




Q1 HARTT gTHS QUlids A1 oIty fSe av1f &1 ART 365 2 |

Find two consecutive positive integers whose sum of squares is 365.

AAdT

R b VAT A B IR 1 G 2 FSae] ofrg, dlels 9 g 8l 3iR
IHST &THA 800 m* BI? Ifa B, Al IFDI THTS 3R AlSlg AT DIIY |

Is it possible to make a mango orchard whose length is twice the width and its area is
800 square meters? It yes, find its length and width. [4]

: _ ;3
ﬁl@ﬂ%ﬁ'ﬁ———smi} 25 A—tanA

2Cos3A—CosA

SinA — 2Sin3A_

Prove that - ————
2Cos3A—-CosA

tan A

ﬁ'_r&, ﬁﬁf cos A +1+Si A: 2 Sec A

1+Sin A cos A

cos A 1+Sin A
Prove that -——— + = 28ecA
1+Sin A cos A

(4]




UITYS ISl 2023—24

3afr—3 wer 15 e (Jure BR=EH) quTiepT: — 80
YHA—5H
1 IETATH IABHR
% 9.
1. IRt 30 37.50%
2 SECICE 26 32.50%
3. i 18 22.50%
4, HifeTaa 06 7.50%
2ATT: 80 100%
2, U GHRITARY HHR: —
. | U YBRT: Al | GIAURTH | fofibl: | Uiaedq | g | EeTfae:
T 3ehT: b | ufderayq | G
1, T TSS—UZT: 1/15 |1 15 18-75 29-41% | 15 fH0
2 Rereernq 1/07 |1 07 08-75 13-73 15 fAo
2. HFTTEIRTHD—YZT: | 1,/10 1 10 12.50 19-61% |25 A0
3. CTEINTHD—YZT: 12/12 |2 24 30.00 2353% |60 A0
4. TR I—g3T: 04/04 |3 12 15.00 07-84% | 40 T80
5. IBECIS e rEI] 03/03 |4 12 15.00 05.88% | 40 fH0
T 22 / 51 80 100 100% 195 30
f[Aheaaren: Ul 9—g—@uedl: Afd |
3. 1 APIR: —
B. fqem: (SaR) DR FIRNGE
1, JSTYfociiTdhRIH (wulife: + ) 10 12.50%
2 ST TN (WURIfg: + FAARE) 08 10.00%
3. JST=ATY D ITIAROTY (BUlifg: + geman) | 07 08.75%
4, goT ool Uy (wufdfg: + ) 10 12.50%
5. ST I TYBROTY (WaRIfg: + gareamean) 08 10.00%
6. g YA TTYDHRUH  (WURifg: + 07 08.75%
7. YT HIUTH (wufafg: + ) 10 12.50%
8. AT YA  (31ed: ArRIgAnTee) 05 06.25
9. IIHUTOT (GITTDINY) 05 06.25
10 JIRITAGRII— ATRIVINT: 10 12.5%
HA—IfPIR: | 80 100%




U039, Aiegad (g fU=<)

PHefT — YdfRThT 1041 fava— Fepay (FeHu=m) quipT: — 80
P, SeRIMT oy / Jufaer: EIGL I I / feafad PIRTCH / Atferda T
B RE I E R
= = & =
1. SIOT=IY ST BRI 2(1) 1(1) 3(1) | 4(1) 10(4)
(wufafy: + garemeEmn)
2. ST AN TIHROTH 2(-) 11) | 1(-) | 4(2) 8(3)
(ufify: + greren)
3. 1(-) 1(-) 1(-) 4(2)
(wuffy: + reareE) 7(2)
4 BAIG oet IR 2(-) 1(-) 3(1) 4(1) 1 10(2)
(ufify: + reren)
5. EATEAN BRI 26) [16) [ 10 4(2) 8(2)
W:+WT)
6. EATG B ITIHRIH 1(-) 2(-) 4(2) 7(2)
(wufafy: + garemeEmn)
7. FAYIIIHRIT] 1(-) 4(1) 2(-) 3(1) 10(2)
(euffg: + o)
8. Y YIRo  (3ek 3(-) 2(-) 5(-)
JIRIANTEE)
9. IR (SATABNY) 1) | 1¢) 3(1) 5(1)
10 SEISENE 4(2) 4(2) 2(-) 10(4)
IRT 15(1)| 2(-) | 6(1) 3(1) | 4(1) 2(1) | 5(-) 12(6) | 3(1) | 4(1) 12(6) | 6(2) 2(-) 4(1) | 80(22)
HETITT: 26(9) 18(8) 6(1) 80(22)
30(4)
fapeari— Iro T — I — PISHI dfa: AT ABIIDT ARG d YT |

¥ 17 @ 23 (07 U ) WY SnaRefadedr: af+ |
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Praveshika Secondary Examination, 2024
TAT e
Model Paper
hell — 104}
Class - 10"
v — Gepay (FerHI=H)
Sub : Sanskrit (I** Paper)

HG: — 3:15 BINE: qUTiehT: 80
e A

(1) whenfif: wduer WueTTEUR AMiE: AfaRdr o |

(2) \9d weAn: Srfvarat: |

(8) Wt TR SeRgRTBTITE eIt |

(4) TPE TTTI AN WUSHYRIOT Yehola oI |
(5) YT YTATATIIRIIT AR AHEIH AT AT |




queE: — 3"

1. IRIfTSTTT—

(i) g = sfer g wafa- 1
(s7) e @) vem (W) o (%) gu—vg

(ii) M 3TF VAIGE B AU Hafd— 1
(31) ggTe weuT @ =d @) o | Ty () enf¥ |

(iii) ' A TIF UHR: b GIAUT Hafd — 1
(31) 2 3 q) Gl 9 (9) Mfe = (I)veEEr E:

(iv) C A A YIS — 1
(81) o @ s (¥) ™ (®) fs

(v) YR g gAUT wafd— 1
(31) GRS (@) TgHDerT (W) G- AT G (3) Gegfd

(vi) ' fawdg’ sF SHoreel Hafa— 1
(@) THERW WM (d) THRE W (4) MHR WM (T) ThRT ™

(vii)  TEe ser e waf- 1
(a1) =T @) T<r: % foogar (%) 81 BIREY (&) UBIoRUQUr:

(Viii)=Ter &' gg= wafd— 1
(31) & WM gBRT (§) TR WM IhR (F) EhRE M IHRN

(3) TPRT M TBR

(ix) =f2gfagiy o * sfar T Jafa— 1
@fdaq g @) e (@) TAU @)y



(X) =i~ goa= JANTHl wafd—

@ar AYEeR (@) (F)T=IAINR (]) WHFYHDI

(Xi) IrARTOTEEER S AT Hafo— 1
(31)e: (@) < @2 () e
(xii) ‘= sogaml wafa— 1
(31)geepTet @fr @@ (@) W
(xiii) ‘sregamersgu’ i gAUT wafd— 1
(a7) SIS @) ggfd (W) FaaHEsn  (]) ¥aq
(Xiv) I<Ar STH ATIAST BT AU Hfa— 1
(31) T (q) FATIRG=hg:(d) redivraea (]) raTeTgy:
(XV) A JEADR—ATAGST—Uha TR TH R — 1
(31) 3T @ s (@) (]) o
2. Re=eI= qRIa—
() E—— ERIRNERE 1
(1) E— A I | 1
(iii) R L PlGEIEGESl 1
(iv) S | = 1
(V) WG TE afer? :
(vi) STAT TR . | 1
(vii) TS, e, TSI | 1



3. fTTETRIHBY LT~

i) ARGl i AU fb wafa ?

i) g1 AYEHE gfd AU fdb wafd ?

iii) FeATaTq 3fTSRAT & 3MTQTT: wafd ?

V)  35eW iR b eri?

AUEIDR:  hal wafd ?

T A AT B AT af ?

FHI' T P AT 9ard ?

YL sIF b UIY: ?

AT 3fa srergwy otk fafere areuENT % |
TaTH 3T ST oref  fafersr areuAnT g%d |

S S22
ES=

X
N

P e U U U U U U U U

X
N

gug: — q’

&

HrisATr $i PRI AeTeREe o ?

. SRR gfa R ArareRemel o ?

6. UT-HTARI JMFBTAR d Rrcrararaigy fofed |
IR s o fafg: @t

8. ‘&fe sfd U wArerd |

[$)}

~

9. IUMNY i wU AR |

10. ‘TR Sid ©Y AT |

11. '37Gq 3l GAuTd' i AR AIareroHedl og-i: ?
12. A gfd wU AR |



13. AMARIT—ISHETITAT ATFI AU o] | 2
(®) 37, (W) R

14, JAAMARIT—USHETITAT TLI—aATRITHIT o | 2
(@) a1, (@) Bia

15, 7:15, 8:45 Sfcl AHIHD HA&hd forad | 2

s — '

16. JALMARIAY PTG g1 YANT AT | 3

17. JAAMARIAY DG g1 YN AR | 3
AU, B, HEA, g

18. JENARITY JAY HANEG g AIGERVMAT = | 3
IR, AT A, S, g

19. YTl JC—ABREI WU ol | 3

3fexd

TRl TS— ABREI W7 forerd |

gre: — T
20. FfeReay e gam: Rifgfdermr | 2x2= 4
21. fefeReaay waif¥eag gan: Rifgfdern | 2x2= 4
foreyg,  fawmare,  wstE, ot
22, JfIRIAY B g1 AR AT | 2x2 = 4

AT, T, HATUEHIS], ATH:



UITYS ISl 2023—24

HeT —YafradT 1091
fawr— HAepaq
JGfe—3 ger 15 e (Aure ER=IH) quTiepT: — 80
fgei—u=m
1. IEIEM ABHR:
SEDE SEZIRe yfereray
B9
1, A 29 36.25%
2, SEEICE 19 23.75%
3. A fd: 25 31.25%
4, HifeTaa 07 08.75%
3RT: 80 100%
2, U GHRITARY HHR: —
B, | U UBR: Al | GIAURTH | fofibl: | Uiaedq | g | EeTfae:
& | DT o | ufdwray | 993
1, T TSS—UZT: 1/15 |1 15 18.75 2941% | 15 A0
2 Rereernq 1/07 |1 07 08.75 13.73 15 fAo
2 HAfTTLRIHAG—IZT: [1,/10 | 1 10 12.50 19.61% | 25 fR0
3. CTEINTHD—YZT: 12/12 |2 24 30.00 2353% |60 A0
4. TR I—g3T: 04/04 |3 12 15.00 07.84% | 40 fH0
5. IBECIS e rEI] 03/03 |4 12 15.00 05.88% | 40 fH0
T 22 / 51 80 100 100% 195 30
fAheadoT T Uo:  F—a—gvear: Af |
3. { APYR: —
4. | fqum (SPR) SEZIRe FIRNIGL|
1. TEIhTTH 25 31.25
2 S CRIECE R RERI I 15 18.75
3. YeIhTegH 25 31.25
4, BRI 05 06.25
5. 3BT 05 06.25
6. I 05 06.25
ART: 80 100




U039, Aiegad (g fU=<)

DHeTl — YAfRIHT 1091 fava— Hepay (fgdiaa=m) qulihT:  — 80

P, SR fauT: / SUfde: A T TN / frete: Prerem / ferdar T
g he i f e Ble BBl be i hlefelif)
& & & =
1. | T 6(1) | 1(1) | 6(1) 4(2) 4(1) 4(1) 25(7)
2. RCEIRCECEP OCE I T 4(-) 4(2) 3(1) | 4(1) | 15(4)
3. | germram 5(-) | 3(-) | 4(-) 4(2) 9(3)
25(5)
4. BN 1(-) 4(2) 5(2)
5. PR 1(-) 4(2) 5(2)
6. | o 10) 4(2) 5(2)
TT: 15(1)| 4(1) | 10(1) 3(-) 12(6) 4(1) 12(6) | 9(3) | 4(1) 3(1) | 4(1) | 80(22)
19(7) 25(10) 7(2) 80(22)
29(3)
fapeari— Iro T — I — PISHI dfa: AT ABIIDT ARG d YT |

¥ 16 @ 22 (07 U ) WY SnaRefadedr: af+d |

TRITERA




JafThT AT USIell, 2024

Praveshika Secondary Examination, 2024
T YA
Model Paper
Hefl — 109
Class - 10"
v — Hepay (feauss)
Sub : Sanskrit (2™ Paper)

WG — 315 BN T 80
oerei: At

(1) TR wdvert TRATAR A fERia o |

(2) wd e srfvarat: |

(3) WIS SETFRITT SeRgReApTAAg e |

(4) TP TR ANl WUSHIRIRIYT THaAa e |

(5) |AYT FTAFHRIOT HEGaHTETHd TG |




1. TEIITSYET:
(i) MAYAUTSTIHRYT TH 3fTcATH B 7 foaf~a—
(31)uraTUTg TSI ()3T
(R ree=foT () Pgaay
(ii) oY 73T BRI Hafa—
(31)TTTTETOTH (@) ROy
(F) AT (@) NIRARITH
(iii) Do fgdd =R fhara?
(31 FARTSTIRTSATI A hH (@) AT EReoH
(|) TRYHOH (SR TUSHIRUIITHTH
(iv) fAdepTfdoigq SR ACHE oRghISRd—
(31) <1 STERMTRBRavTHR: (@) ST IATHRITAT
(V)T CHYRTTIIRITE ()t st
(v) Iu: XG: FHF aranef b dURfa?
(31) HTepeTCATATH (@) TremETAT
EENICIRIE () TSI
(vi) USTad—=Rg JEATHRI aod—
(en)rferars: (@)
GIESINELE (<) o farsoperf
(vii) HAhefdhel M-
(31) g=r (@)@t
(%) arrt ()eTeTeRT
(viii)  drEsw AEERia—
CIEIREINED C)SECREEE

grs: — 37"




(ix) qEHART AN
@R (@) s
(¥) dsrT (3) o

(x) RigRREITAgwT : Sga-
C)IEERIERRERE C)RSEENINIEERE
(F PIDIcTd T C)LERCRERE

(xi) HUGHE M AT —
SONREIEE (@)wsagfs:
(W)erergfe: (@urgfe:

(xii) '~ e GHIf a9 fdd—agaaTd wudRa—
(a1) W (@) wrgwH
(W) sgf: (@) W

(xiii)  AT—greRISRA—
(31) rpRIYfociiTeres: (@) ApRYfeeiTre:
(|F) IMTHRITHI ATl (]) HPRITHA TS

(xiv)  ‘T—TAr ACADPR—ALHYTTY Igad BwUHRT—
(31) e (@) o=
()T (]) oW

(xv) I —ITAl: ACADR—YHAISTR Tgad- HUHART—
(&) asg (@) 95g
GIEERS () ged

2. Reaemy Rad—

(i) RATATATITT TG AT o ST |

(ii) M & FIRT oo qyore |

(iii) HRY YA T o fgaTferTe |

(iv) T 9 B UNITSAY: .o NEIGEH

-_— = A



(v) FRIT FI0T PG DIfciaa |
(vi) faTaeT O |0 BRI o |
(vii) fERR............ JgUal faevsmr: |

3. SfdeTRRIHDITT—
(i) DHigell YfA: TEThS Bl ?
(ii)

(iv) Toafenmd 7efY: avaw: fhag gv9 Iy snfasedr ?
(v) HYBTSTRI A fhATA?
(vi) T JAT—=g A fhaRd?

(vii)  EEHSHAT TETHR B TR SGAN 2
(viii)  wvigsn gfoyoarE & aResa ¥ ?
(ix) PIYIICHAT: & SATd: ?

gl 7=l 3 g w1

gre: —

4. IAI—ITHIL: JoTT Bid: BIITHBRI

5. SHYAT II- [ IH: YT fhHgeq ?

6. UGHYR: DHIGI: NI ?

7. N8 guTegd ® 9 @rfadadl  ?

8. RrgRuiiw—<a: e forgd?

9. TGAfdpIfSTE<H: Iy forgd |

10. TATADRE Fef0 foreerd |

11. EJAMIIAGRG PN [ HBHTH ST & ADIR:?
12. JARPITIAR delaayd  A™gd ford |

13. SFRGBIYAMAR UG A foled |

14, JY—TN@Y GoHI— e HUTfoT fored |

15. TH—HTA: TS—ABR—AITAISTRI HUTOT ol |

e e T N U L U U



s — 9

16. JATARITAT: §AT: TAIDHA UhW AUIST— ARAT HRI—  (1+2=3)

(@) Wﬂwml

R RerRy gdl 3T AT TR UT: | |

(@) = MR gaRd: O | g
JengNg fRaftesfa aareasd |
afETfe g = dHihd a—
SAS ST guaddl 9= | |

17. JATARITA:  TATHAl THRT AYASIT— AR TG — (142=3)

(@) fqufs i@y &
A areacd gidfasha: |
BNIRECHENRERE I G
ypfaRigiie f& qeram ||
(@) @ 7 A 9 dre g fived gRkd: |

qI JelU- HRIfa FeReaf | |

18. NfARITIT: TATHAT: UHR AUTSI—HTaTeh: o &: | (1+2=3)
(@) YR <R Jg UG o HE TEC |
RN T AIRA 7SRO | |
(@) TGN ReRUGHY IF daI=<IRIs,
SEUICINERIRGNEEGENCEIRCESNIRGE
TRIEAEade g GHd ATRIHI],

AT TR o =1 fqda: | |

19. 9adl gl RSB II—HARIBI—ARpI—[IeTTI—GATTTRE BT | 914
fqareRUM (ST radrenel JerreaIer wefHs fora | 3
arerar

TRUT BRI TR YHIRIGIRIR yreAras foraq |




ug: —'q§'

20. JENARITTEA: FRITTHT AUFSTT ARAT HRIT— (1+3= 4)
() 1 ASEKIA IGIYSN Gl TH Ydb U Jglddd— AT o]
SIHFHTANIH | e |a: b SHereafaded | dvd qesgiady |

(@) qdr TESEUEERN  UJuARISSTd SR a9 eI | d
BRI T | 318 o FIYfGUHTIUT e |

21. UL HATAT: AR AIXHIANRT E@HIg: | 4
(P) PrETTHTBUDAT

() RisRrerTerg=ree

22. A fqugHaerr=g erqucy e fored— 4
CORIRCIRREEARE

() T

() Hepfaas:



